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#;2; TREOBBOEILADOKRES TREDOHBSILADKRES TREOBBOEILADKRES TREDHBERILNDKRES
; 100kN/m#%#8%5%| 1.00| 000 ~ 095| 11418 |3mEBZB| — ~ — — — | 100kN/m%#BZ 5| 1.00 | 1096 ~ 1380 114.18 |3mZE#BZ3 -~ — — —
Zzh s 1001095 ~ 873 100.00 | =ns | 000 ~ 873|234 11.83 Zzh s 1.00 | 5.00 ~ 109 100.00 | =nds | 5.00 ~ 1380 2.34 11.83
2 100kN/mM%#EZ % — -~ = —|3mZEBZB| — ~ - — — | 100kN/mMZ#BZ % — - ~ — —|3mZEi#BZ % - ~ — — —
Zzh s 1.00 | 000 ~ 640 80.57 | EhAs | 0.00 ~ 000|157 7.95 Zzh s 1.001]56.00 ~ 836 80.57 | NS | 5,00 ~ 836 1.567 7.95
3 100kN/m%#EZ % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#BZ % — - ~ — —|3mZi#BZ % - ~ — — —
Zzh st 1.00 | 000 ~ 656 82.66 | Thdst | 000 ~ 000|166 8.41 Zzh st 1.00]56.00 ~ 8.00 82.66 | Ths | 5.00 ~ 800 1.66 8.41
4 100kN/m%#EZ % — -~ = —|3mZEBZB| — ~ - — — | 100kN/mM%Z#BZ % — - ~ — —|3mZi#BZ % - ~ — — —
Zzh st 100|000 ~ 5.16 64.35 | ThS | 000 ~ 516|224 11.33 Zzh st 1.00]56.00 ~ 844 64.35 | TN | 6,00 ~ 844|224 11.33
5 100kN/m%#E% % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#BZ % — - ~ — —|3mZEi#BZ % - ~ — — —
Zzh st 100|000 ~ 6.74 85.12 | Fhds | 000 ~ 000)|1.71 8.65 Zzh st 1.00|56.00 ~ 821 85.12 | #hs | 5.00 ~ 821|171 8.65
6 100kN/m%#E% % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M#Z#BZ 5 — - ~ — —|3mZEi#BZ % - ~ — — —
Zzh s 1.00 000 ~ 680 86.03 | Thds | 0.00 ~ 680 1.81 9.15 Zzh s 1.001]56.00 ~ 836 86.03 | Ths | 5.00 ~ 836 1.81 9.15
7 100kN/m#Z# %5 | 1.00| 000 ~ 0.02| 10023 |3mEBZZ| — ~ — — — | 100kN/m%#BZ5 | 1.00 | 11.25 ~ 1130 100.23 |3mZE#BZ3 -~ — — —
Zzh s 1.00 1002 ~ 780 100.00 | =05 000 ~ 780|202 10.21 Zzh s 1.0015.00 ~ 1125 100.00 | =ns | 5.00 ~ 1130| 2.02 10.21
g 100kN/m%#E% % — -~ = —|3mZEBZB| — ~ - — — | 100kN/mM%Z#BZ % — - ~ — —|3mZEi#BZ % - ~ — — —
Zh st 1.00 1000 ~ 602 75.49 | TN | 0.00 ~ 6.02| 1.85 9.34 Zh st 1.00]56.00 ~ 7.04 76.49 | =nS | 6.00 ~ 704185 9.34
9 100kN/m%#EZ % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#EZ % — - ~ — —|3mZi#BZ % - ~ — — —
Zzh s 100|000 ~ 751 96.06 | s | 0.00 ~ 751|181 9.14 Zzh s 1.001]56.00 ~ 9.90 96.06 | ThS | 5.00 ~ 9.90 | 1.81 9.14
100kN/m%#EZ % ~ ImEBZD ~ 100kN/m#Z#8% % ~ ImEHEZD ~
Zh Lot ~ Zh s ~ Zh Lot ~ Zh s ~
100kN/m%#E% % ~ ImEBZD ~ 100kN/m%Z#B% % ~ ImEHEZD ~
Zh Lot ~ Zh s ~ Zh Lot ~ Zh s ~
100kN/m%#E% % ~ ImEBZD ~ 100kN/m%Z#B% % ~ ImEHBZD ~
Zh Lot ~ Zh s ~ Zh Lot ~ Zh s ~
100kN/m%#E% % ~ ImEBZD ~ 100kN/m#Z#8% % ~ ImEHEZD ~
Zh Lot ~ Zh s ~ Zh Lot ~ Zh s ~
100kN/m%#EZ % ~ ImEBZD ~ 100kN/m%Z#B% % ~ ImEHEZD ~
Zh Lot ~ Zh s ~ Zh Lot ~ Zh s ~
100kN/m%#E% % ~ ImEBZD ~ 100kN/m#Z#B% % ~ ImEHEZD ~
Zhst ~ Zzh st ~ Zh st ~ Zh st ~
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